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9. NTCB Corp. currently has a firm value of $150 million and has outstanding zero coupon
bonds due in one year with a face value of $100 million. The company is Jaunching a new
project. If the project is successful, the value of the firm in one year will be $240 million,
but if the project is a failure, the firm will only be worth $90 million. T-bills that mature in
one year yield 5% and NTCB pays no dividends. Use the two-state option pricing model
to find the current value of NTCB’s debt and equity. (10 43°)
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" 10. Consider a portfolio consists of two stocks, A and B. Stock A has an expected rate of
return of 18% and a standard deviation of 30%. Stock B has an expected rate of return of
10% and a standard deviation of 20%. If the two securities have a correlation coefficient
of 0.25, what are the investment proportions in the minimum-variance portfolio of the two

stocks? What is the expected return and standard deviation of this minimum-variance
portfolio? (10 43)
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